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TARGET MATHS- 25/25

Q:-1. The ratio of the ages of A and B at present is 3: 1. Four years earlier

the ratio was 4: 1.The present age of A 1s:
SIAHM H A 3T B hl AT T UG 3:1 81 TR N U8 I8 AU 4:1 ATl A

Jaq™ SR &
(a) 40 years
(b) 32 years
(c) 36 years
(d) 48 years
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Q:-2. A and B can complete a certain task in 24 days and 40 days,
respectively. They worked together for 8 days. C completed the
remaining task in 14 days. Working together, A and C will complete
75% of the same work in:

A 3R B ek Fifara ovred o6y shwen: 24 fRAT 3R 40 foA & o ot wena
Igiv 8 fort ook Uk |y TR oRATl C 919 i T 14 ToAT # oxT ToRam T
T I A T, A HR C A 6T HT 75% T HT:

(a) 10
(b) 9
(¢) 15
(d) 12
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Q:-2. A and B can complete a certain task in 24 days and 40 days,
respectively. They worked together for 8 days. C completed the
remaining task in 14 days. Working together, A and C will complete
75% of the same work in:
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Q:-3. A circle 1s drawn 1nside a triangle ABC. The circle touches the sides
AB, BC and AC at the points R, P and Q respectively. If AQ =4.5 cm, PC =
5.5 cm and BR = 6 cm, then the perimeter of triangle ABC is:

Teh ISt ABC 3% Teh 9 @i TR 8 3 shAel: AB, BC 3 AC st WSTIel
R, P 37T Q W T3 hidT &l Afe AQ = 4.5 GHT, PC = 5.5 Gt 3T BR = 6 T, T
st ABC &7 IHHTY &
(a) 32 cm

(b) 28 cm

(c) 30.5 cm

(d) 26.5 cm
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Q:-4. If a nine-digit number 755x36785y 1s divisible by 45, then the

maximum value of (x +y) 1s:

i =Y 3Rl ! TEAT 755x36785y, 45 H [T 8, A9 (x + y) T ATehad I
EIEIT%:

(a)12
(b)11
(c)13
(d)14
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Q:-5. An article 1s sold for Rs. 1,176 after two successive discounts of 30%
and 16% on 1its list price. What 1s the difference (in Rs.) between the list price
and the selling price of the article?

Ueh ST shl 38 Gl H T 30% 3 16% hi shiHeh D o 1€ 1,176 T H &=
ST & & o §it Hod I forshar 7ot o st T 3w (399 W) &7

(a) 820
(b) 740
(c) 824
(d) 840
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Q:-6. Anamika paid Rs. 4,965 as compound interest on a loan of Rs. 15,000 after
3 years when compounded annually. Suman took a loan of Rs. 10,000 at the

same rate on simple interest. How much interest did Suman pay after 3 years?
STTHRT = 3 9 918 15,000 T oh KT G Asha (<5, ST oh &9 H 4,965 T4 T
RUGIERERIMSERSIIE] tls:bqlo&%él Wﬁwawwwm 10,000 &9 T
o7 o YA 3 9 oG fohe=T SATST 37T fohaT?

(a) 3500
(b) 3000
(c) 4500
(d) 4000
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Q:-6. Anamika paid Rs. 4,965 as compound interest on a loan of Rs. 15,000 after
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Q:-7. Geeta scored 30% and failed by 50 marks, while Sandeep who scored 45%
marks, got 25 marks more than the minimum marks required to pass the
examination. How many marks did Vimal get if he scored 64% marks?

AT 30% 3feh TTH fohT 3T 50 3fehT © ST 81 1, Steffeh Gtd S 45% 37k
T foh, 38 et Iitul i o foT SATareareh =IHaw 3ihi | 25 3ieh 3Tfereh T4 Y
[STHT 3T 64 TaRTd 3ok ITH i IL fehd 3ok ITH 8?2

(a) 320
(b) 436
(c) 500
(d) 256
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Q:-8. In a circle with center O, a 6 cm long chord 1s at a distance 4 cm from
the center. Find the length of the diameter ?

hg, O Tl Ueh oI H, Teh 6 T Aefl STidlT 2hst © 4 BT ot gl 0T 81 AT shi oielTg
1 <hIfTE?

(a) 10 cm

(b) 5 cm

(c) 15 cm

(d) 20 cm
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Q:-8. In a circle with center O, a 6 cm long chord 1s at a distance 4 cm from

the center. Find the length of the diameter ?

hg O dTel Uh I W, Teh 6 T il Sfiell hg & 4 et sht gl 9T ) =1 shi e
T ShifsTe?

(b) 5 cm
(c) 15 cm
(d) 20 cm
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Q:-9. In a mixture, the ratio of the alcohol and water is 6:5. When 22 liter
mixture are replaced by water, the ratio becomes 9: 13. Find the quantity of
water after replacement.

T T 6, STohied ST qTHT 3T 3TITT 6:5 81 ST 22 et o7 i arl § a5
T ATl @, 1 SAAATA 9: 13 BT STl 21 TIGAToH 3 SITE UTHT shi | [T o2

(a) 62 litres
(b) 52 litres
(c) 50 litres
(d) 64 litres
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Q:-10. In a class there are 8 boys and some girls, the average monthly
consumption of the whole class 1s 10.8kg/head. If the average monthly
consumption per head be 15kg 1n the case of boys and 6kg in case of girls. Find

number of girls?

Teh SheTT H 8 TTSoh 3T Hd SRl &, T Hall shi e Hieeh @ud 10.8 FohIm/iex
2 e gfe stk STHerd HTfeeh @Ud ASohl o HHA H 15 ToRUT 31T ARl & HTHA H
AP IS ERIEIRIC IRIGEAISE Y

(a) 7
(b) 6
(c)8
(d)9
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Q:-11. A car covers a distance of 48 km at a speed of 40 km/h and another 52
km with a speed of 65 km/h. What 1s the average speed of the car (in km/h)
for the total distance covered?

Teh <R 48 Tohet ot gt 40 Tepefl/sier ot i & 3T 7= 52 fopefl <l gl 65
forwfi/eieT hl TTTd O d ST 3 9 <l Tréwa’ﬁoh [TU I i Ty
(fereftyeraT o) T B2
(a) 52

(b) 50

(c) 52.5

(d) 54
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Q:-12. A sum of money 1s divided among A, B and C in the ratio 2:3:7,
respectively. If the share of B 1s Rs. 15,000, then what will be the difference
in the shares of B and C ?

e IR <Rl SHHET: 2:3:7 3 STUTG H A, B 3T C § fortisid forarm STt 21 9fd B =
fe&a 15,000 T 2, A1 B 37 C o IR H T S 2

(a) 15000
(b) 20000
(¢) 25000
(d) 18000
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